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1. When a population is studied, any inconsistency produced by the instrument

used will result in :

(A) Sampling error | (B) Measurement error

(C) Data error (D) Instrumentation error
2. The first ombudsman in India was -appointed for :

(A) The Hindu " (B) The Telegraph

(C) Dainik Jagran (D) Times Of India

3. Cloze is a method of :
(A) editing (B) captioning
(C) readability (D) ending

4. For Roland Barthes, myth is a system of :

(A) communication (B) precepts
(C) contrasts (D) morality
o. ‘Development is a cruel choice’ is the statement made by :
(A) Aristotle ~ (B) Fiske
(C) John Right (D) Denis Goulet

6. The concept of ‘Flak’ was constructed by :
(A) Durkheim (B) Festinger
(C) Curran (D) Chomsky

7. Copyright does not exist in :
(A) music (B) reproduction

(C) original copies (D) sound recordings
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8. Match the following :
List-I List-11
(@) communication power (1) Manuel Castells

(b) misunderstanding the internet (2) James Curran

(¢) myths of OZ (3) John Fiske
6 rellaciions ' (4) Walter Benjamin
Codes :-
@  ®) ) (d)
@ @ (3) Q) )
B) (3 2) ) @)
© @ @ 3) 4)
™ Q) @) 4) 3)

9. Match the following :

List-I | List-II
@) Mither Tndia (1) Mira Nair
() Kissa Kursi Ka (2) Geetu Mohandas
(¢ Liar’s Dice (3) Mehboob Khan
(@) The Namesake - (4) Amrit Nahata
Codes :

(@) ®) © @

Aa @ (2) 3) (4)
® @3 4) @) (D)
© @ (2) ) 3)
(D) (4) (2) (3) (1)
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10. Match the following :

List-I
(@) Hari Bhoomi
(b) Divya Bhaskar
(¢) Sanjevani
(d) Kesari
Codes :

(a) o)

(A) (1) (2)
(B) (3) (4)
@ . @ (4)
(D) (1) (2)

13 Match the following :

List-I
(@) DAVP
(b) ABC -
(¢) INS
(d) NWISCO
Codes :

(a) (b)

(A) (1) (2)
(B) (4) (3)
(C) (2) 4)
(D) (4) 2)
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List-II
Kannada
Hindi
Marathi

Gujrati

List-II

International news flow
Association

certification

publicity
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12. Match the following :
List-I List-II

(@) First national programme of music (1) 1957

®) Vividh Bharati (2) 1952
(¢) Privatization of radio in India (3) 2008
(d) First community radio in India (4 1993
Codes :

(@) ) (c) (@)
A) - (@ (1) (4) 3)
(B) 6)) (4) (2) (1)
(0)) (2) (4) () -+ 18)
(D) (1) 2 3) 4)

13. Which of the following can hamper the process of communication ?
(A) channel (B) encoder
(C) noise " (D) pollution
14. The uses of teaching aids is justified on the grounds of :
(A) attracting students attention in the classroom
fB) minimising indiscipline problems in the classroom
(C) effective engagement of students in learning

(D) optimising learning outcomes of students
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15.

16.

17:

18.

19.

The critical approach in mass communication research is used to analyse the

interrelationship between :

(A) media and society (B) man and society

(C) society and technique (D) None of these

The Verstehen school of understanding was popﬁla;ised- by :

(A) German social scientists (B) American Philosophers

(Cj Italian Political Analysts (D) US academician

Which Article in the Constitution deals with elementary education ?
(A) Article 45 (B) Article 19

(C) Article 21 (D) Article 226

How should a student, who does not respond to all efforts for ifnprovement,

be treated ?

(A) psychologists and social work experts should be consulted
(B) Arrangement should be made for special education

(C) activities should be overlooked

(D) should be rusticated from the school

A null hypothesis :

(A) hypothesis of no difference

(B) hypothesis that assigﬁs value of zero to the variable

(C) hypothesis of zero significance

(D) All of the above

TBC : YRS(APXCC)JMC-2018 10
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20.

21,

22.

23.

24.

Type-1 Error occurs when :

(A) the null hypothesis as well as alternative hypothesis, both are rejected
(B) the null hypothesis is rejected even when it is true

(C) the null .hypothesis is accepted even when it is false

(D) the null hypothesis as well as alternative hypothesis, both are accepted
A research problem is not feasible only when :

(A) It is researchable

(B) It has utility and relevance

(C) It consists of independent and dependent variables

(D) It adds something knowledge

Which is not a part of a relational prototype ?

(A) A joint action (B) Label

(C) Criterial attribute (D) Communicative indicator

In which communication much information needs to be shared among people

in the same hierarchical level ?

(A) Upward communication (B) Downward communication

(C) Vertical communication (D) Horizontal communication
Which of the following is the commonest grapevine chain in organizations ?
(A) single strand chain (B) gossip chain

(C) probability chain (D) cluster chain

TBC : YRS(AP)(CC)JMC-2018 12
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25,

26.

27.

28.

29.

Which sociological perspective argues that media images of the sexes

communicate unrealistic, stereotypical and limiting perceptions ?
(A) functionalist (B) feminist

(C) interactionalist (D) dfamaturgical
Immediately after independence P;I‘I took the respo;sibi-lities of :
(A) AP and Reuters (B) United News of India
(C) Press Agency of India (D) Hindustan Samachar
IPTV stands for :

(A) International Protocol Television

(B) Internal Protocol Television

(C) Internet Protocol Television

(D) Internet Production Television

Which among the following is not a dialect normally spoken in Himachal

Pradesh ?
(A) Chambiali (B) Churahi
(C) Mandeali | (D) Maithili

Psychological mechanisms include :
(A) Subjective norms (B) Behaviour

(C) Behavioural control (D) All of these

TBC : YRS(AP)XCC)JMC-2018 14
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30.

31.

32.

33.

34.

35.

Which among the following is not a social campaign ?

(A) Beti Bachao Beti Padhao (B) Swatch Bharat Abhiyan

(C) Sar jo Tera Chakraye (D) Lead India

Bleed refers to :

(A) The binding of book in PB

(B) Two colours mix with each other in an area to create a new color
(C) -The illustration or photograph that runs into the edge of the page
(D) A photograph with wrapped around text above, below, Eeside it
The first television transmission in India wés done on :

(A) 1982 (B) 1975

(C) 1958 (D) 1959

Who is a cub ?

(A) A short-story writer (B) Reporter

(C) Sub-editor (D) An untrained reporter

The Vernacular Press Act, (1878) was also called : .‘

(A) Lytton’s Act | (B) -Full control of Law

(C) Language Act (D) Gagging Act

What does the fundamental rights guarantees ?

(A) Civil Liberties (B) Aristocracy‘

(C) Power (D) Fundamental duties

TBC : YRS(APXCC)JMC-2018 16
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36.  The constitution’s provision for the Right to Freedom of Speech and

Expression is nationally drawn from :
(A) Soviet Constitution
(B) Bill of 'Rights
(C) Magna Carta
(D) Universal Declaration of Human Rights
37. ‘Nati’ dance belongs to :
() Bihar | (B) Jharkhand
(C) Himachal Pradesh (D) Nagaland

38.  The two-way symmetric model of public relations, the model of communication

used is :
(A) person-to-person (B) group-to-person
(9] gfoup-to-ngoup | (D) person-to-group

39. Feedback is considered as :

(A) motor action (B) conviction

(C) description cycle | (D) multilf;lterality
40. Who prepares the pool copy in radio broadcast ?

(A) Editors (B) The hosts

(C) Directors ' (D) Newsreaders

TBC : YRS(AP)(CC)JMC-2018 18
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41.  Identify the correct chronological sequence of communication theories :

(A) Lasswell’s Theory, Shanon Weaver’s Theory, Gerbner’s Theory, Westley
and Mack Lean’s Theory

(B) Westley'and Mack Lean’s Theory, Lasswell’s Theory, Shanon Weaver’s
Theory, Gerbner’s Theory

(C) Lasswell’s Theory, Westley and Mack Lean’s Theory, Shanon Weaver's
Theory, Gerbner’s Theory

(D) Shanon Weaver’s Theory, Westley and Mack Lean’s Theory, Gerbner’s
Theory, Lasswell’s Theory |

42.  Identify the correct chronological sequence of Oscar wining movies :
(A) The Shape of Water, Out of Africa, Chariots of Fire; Birdman
(B) The Shape of Water, Birdman, ‘Out of Africa, Chariots of Fire
(®) Birdman, The Shape of Water, Chariots of Fire, Out of Africa
(D) The Shape of Water, Birdman, Chariots of Fire, Out of Africa
43. Identify the correct sequence of the following laws in India :

(A) Indian Telegraph Act, Official Secret Act, Copyrjéht Act, Right to

Information

(B) Indian Telegraph Act, Right to Information, Official Secret Act,
Copyright Act

(C) Copyright Act, Indian Telegraph Act, Official Secret Act, Right to

Information

(D) Official Secret Act, Copyright Act, Indian Telegraph Act, Right to

 Information

- TBC: YRS(AP)(CC)JMC-2018 20
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44.  Identify the correct chronological sequence of Padma Vibhusan award

recipients :

(A) V. Shanta, P. Parameswaran, Brajkumar Nehru, Uday Shankar
(B) P. Par.an.leswaran, V. Shanta, Brajkumar Nehru, Uday Shankar
(C) Uday Shankar, V. Shanta, P: Parameswaran, Brajkumar Nehru
(D) Brajkumar Nehru, P. ParaﬁwsWaran, V. Shanta, Uday Shankar

45.  Identify the correct sequence of the following organisations as per the year

of formation :

(A) Children’s Film Society of India, Film Division of India, Film and

Television Institute of India., Directorate of Film Festivals -

(B) Film Division of India, Film and Television Institqte of India, Directorate
of Film Festivals, Children’s Film Society of India

(C) Film Division of India, Children’s Film Society of India, Film and

Television Institute of India, Directorate of Film Festivals

(D) Film and Television Institute of India, Directorate of Film Festivals, Film

Division of India, Children’s Film Society of India,-
46. Identify the correct sequence of Televisioﬁ Production :
(A) Treatment, Outline, Premise, Shooting Script
(B) Shooting Script, Outline, Premise, Treatment
(C) Outline, Premise, Shooting Script, Treatment

(D) Premise, Outline, Treatment, Shooting Script
TBC : YRS(AP)(CC)}JMC-2018 22 |
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47.  Identify the chronological sequence of emergence of the following TV channels
in India :
(A) AXN, Discovery, Sun TV, Sony
(B) Sun TV, Sony, AXN, Discovery
(C) Discovery, Sun TV, Sony, AXN

(D) Sony, AXN, Discovery, Sun TV

48.  Identify the correct chronological sequence of the following social media

platforms :

(A) Quora, WhatsApp, Pinterest, Instagram

(B) WhatsApp, Pinterest, Instagram, 'Quora

(C) Pinterest, WhatsApp, Quora, Instagram

(D) Instagram, Pinterest, WhatsApp, Quora

49.  Identify the correct chronological sequencé of the following serials :

(A) Fauji, Humlog, Neem Ka Ped, Bharat Ek Khoj

(B) Humlog, Bharat Ek Khoj, Fauji, Neem Ka Ped

(C) Neem Ka Ped, Humlog, Bharat Ek Khoj, Fauji

(D) ‘Bharat Ek Khoj, Neem Ka Ped, Humlog, Fauji

50.  Identify the correct sequence of writing support materials of media

research :

(A) Observation, Questionnaire, Interview, Survey, Case Study
(B) Interviev?, Survey, Case Study, Observation, Questionnaire
(C) Questionnaire, Case Study, Interview, Survey, Observation

(D) Questionnaire, Interview, Survey, Case Study, Observation
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47.

48.

49.

90.

el e B
(A) T, fewredt, | e, At
(B) |7 e, W, T, fewhet
(C) fewpadl, w1 &, 91, TTT
(D) mwﬁwﬂmaﬁ
frreafafen e Hifea ©ewHE & Wl HehTE AR H T@EH HI

(A) R, =ReIwy, e, senm

(B) meaﬁfm

(C) Tiet=, =g, N, TRUM

D) =M, e, =, =N

frfafad armEfeRl & W& FeTfhias STHA & Tga9H HIT
(A) THIST, BHCM, T H TS, WRd TH @

(B) THAN, YRG TH @, TS, 99 w1 U

(C) ﬁﬂwﬂg,mﬁn,%wm,ﬁsﬁ

(D) YRd T& ©S, A9 &1 98, THAM, Bl

Hifeq oTHYN % ¥HLT WA dEd & WEH SHH H TAH HIWQ
(A) Trigo, geEE, QLEhR, e, iR eI

(B) WER, Gdau, Afs egaq, e, yyamee

(C) YyAEel, =afed s1eagd, WaehR, Taau, faem
(D) YYTeelt, WehR, Haeyuy, =Afeq tegad, fade
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51.  Match the following :

List-I List-I1
(@) Ice Candy Man (1) Bapsi Sidhwa
() The Shadow Lines - (2) Amitav Gosh
(c) Toba Tek Singh () Saadat Hassan Manto
(d) Basti (4) Intizar Hussain
Codes
(a) (b) (c) (@)

(A) 1 (2) 3) (4)

(B) (1) (2) 4) 3)

(&) (2) (1) (3) 4)

™ @ @ O @
52. Match the following :

List-I List-II
(@ Ford India (1) Make Every day Exciting
(b) Bugatti (2) The Ultimate Driving Machine
(¢0 BMW India (3) An Indian Revolution
(d) Chevrolet (4) Right of Commm; Man
Codes :

(@) b) (c) ()

(A) (1) (2) @ - @
(B) (1) (4) (2) 3)
(©) (2) (1) (3) (4)
D) (3) (4) (1) (2)

TBC: YRS(APXCC)}JMC-2018 26



51.

52.

TBC: YRS(AP)CC)JMC-2018

frafafea =1 f@ =i .

(@ 3" % o
b) T WS AR
(¢) dmen % fog
(d) =i

@  ®
(A) (1) (2)
® © @
© @ @
m @ @

frfafea &1 7a wifae

gait-1
(@) w8 sfem
®) T
(c) wiTHSsy sfea
(d) e
S :

(@) (b)

@a 2)

® Q) @)

(®) (2) (1)
D) (3) (4)

(c)
(3)
(4)
3)
(1)

(c)
(3)
(2)
(3)
(1)

(1)
@)
(3)

)

(d)
(4)
(3)
(4)
(2)

(1)

(2)
(3)
(4)

(d)
(4)
(3)
(4)

(2)
27

gei-11

gt fayen
e =
Ed T H
gfem gi

geit-11

R fA omdE T
sAfaq grefam #wi=
M STGH! BT SRR
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53.

o04.

55.

96.

57.

98.

A line of dots in printing is identified as :

(A) Kicker Spots _ (B) Leaders

(C) Disjoints (D) Dotline

Soft News is mostly :

(A) Political News

(B) Spot News

(C) Entertainment and Lifestyle News

(D) Crime News

Structuralism is derived from the works of :

(A) David Holmes | (B) Octovia Piz

(C) dJurgen Habermas ' (D) Ferdinand de Saussure
Job Press refers to :

(A) Employment news (B) Journalistic writing
(C) Government Press (D) Commercial Printing
The National News Agency of Indonesia is :

(A) Kyodo (B) Novosti

(C) Garuda (D) Antara

Pick the odd one out :

(A) Prem Chopra (B) Anupam Kher

(C) Kangana Ranaut (D) Pankaj Kapoor
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53.

o4.

0.

56.

57.

58.

5o ¥ efe &1 TS UfR w1 N ke I e 2

(A) fear o™

(C) fegsamz=H

YR S FIER R # 2
(A) TSHIfTF FAER

(B) @1"&:13

(C) WARSH To TEHERET FHER

(D) 3AUqUY HHER

(A) cfas 2w
(C)- S TaRA™
Wi 9 @1 HeH ¥
(A) TSR FHER
(C) TR UH

- (B) =t

AR & TRY TR TS §

(A) bR

(C) g

faom 1 s wifsw -
(A) I e

(C) HTAT TmEd

TBC : YRS(AP)(CC)JMC-2018
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(D) sleeEA

-Wmmﬁ@mu%?

B) s fr
D) weive & 9

(B) USRIRAT o1&

(D) anfufsges HqEUW

(B TRt

(D) T

(B) oTTH X

(D) &I FR |
P.T.O.



59.

60.

61.

62.

63.

Mass society theory inclucies :

(A) Large scale society (B) Atomised Public
(C) Centralised media (D) All of these

Who coined the term ‘Global Village’ ? -

(A) Marshall McLuhan (B) J. Ba?an

(C) Daniel Lerner (D) Dennis K. Davis
Who called Media'as. the Fourth Estate of Idemoc’:racy ?
(A) Edmund Burké | (B) Thomas Jefferson
(C) John Pilger (D) Alex Perry

In simple random sampling ;nethod, which is skipped :
B oupliss | (B) data

(C) variables a (D) repetition
Primary data means :

(A) Relying on data collected by others

(B) Advertising researcher collecting data from research firms like AC Neilson
(C) Data collected from internet

(D) Data collected directly from the first-hand experience

TBC : YRS(AP)(CC)JMC-2018 30



89.

60.

61.

62.

63.

9 wA fagid ®

A) ¢ TR W ¥ES (B) WA HrewfR
(C) wga Hifem | (D) & wsft
‘ﬂﬁaﬁm’wﬁmﬁm%l?

(A) TR Hee (B) . =
(C) Sfaa o D) 2w #. o™
Hifear #1 frea oiehad 1 dieft faa #@1 § 2

(A) TUSHS W& (B) i ST

(C) S TR D) W W

e Aefs g fafy # s 9 foa & ¢

(A) w&n - (B) =

(©) | O T
mﬁxm?sém?ﬂaﬁ%:.

(A) T & gW A FT MY B W AW R

(B) fomma wusal wl. e S oy Fufel ¥ TR & FW €
(C) 3R § T BEI

(D) TEH ¥ TIH €Y ¥ ST THed F ¥ Ugd ThA R T NS
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64. The last stage of a PLC is :
(A) maturity (B) decline
~(C) introduction (D) growth
65. Which among the following is not a recommendation of Chanda Committee ?
(A) To transform AIR into a cor.poration )
(B) Separate DD from AIR
(C) Co.mmercialisation of AIR
(D) None of the above
66. In the term CMYK, the term K refers to :
(A) magenta (B) red
©) yellow D) blacig
67. Exaggeratiqn and Sensationalism are associated with :
(A) Black journalism (B) White journalism

(C) Yellow journalism - (D) Ethical journalism

68. Community Radio Station started operating first in which of the following

countries ?
(A) Pakistan ' (B) Bangladesh
(C) India (D) Nepal

TBC : YRS(AP)XCC)JMC-2018 32



64.

65.

66.

67.

68.

fuerdt &1 3w = ¥

(A) TR (B) waH

(C) wi==™ | (D) fo=wrg
ﬁmﬁlﬁaﬁ@wﬁmvﬁﬁﬁﬁw&ﬂ?ﬁ%? _

(A) TIESR F wH Frm A wger

(B) SISt & MHREMT | T HEA

(C) ITHIEM H TR

(D) 39w § d HE
m@mwﬁ,‘ﬁ'méﬁﬁﬁ%?

(A) HS (B) %ﬂa

(C) drem (D) e

S T favEfa ok e & wg S w E ?
(A) el IR (B) §®E TR |
(C) diq eI (D) fw TR
T Yed S 3 et § Qe 3w § veen SO UE R A 2
(A)-rnm (B) el

(C) wrd D) A9
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69.

70.

The Press Information Bureau was established in :
(A) 1919 (B) 1947
(C) 1948 D) 1918
Prasar Bharti Corporation was constituted in :
(A) 1995  (B) 1994

(C) 1998 (D) 1997

Directions (Q. Nos. 71 to 80) :

Tl

In the question given below are two statements labelled as Assertion (A) and
Reasoning (R). In the context of two statements which one of the following

is correct ?

Codes :

(A) Both (A) and (R) are true

(B) Both (A) and (R) are true, but (R) is not the correct explanation of (A)
(C) (A) is true but (R) is false

(D) (A) is false but (R) is true

Assertion (A) :

The concepts of reliability and validity have different contextual meanings

of qualitative data.
Reasoning (R) :

Over a period of time, the behaviour and perception the people have changed.

TBC : YRS(APXCC)JMC-2018 34



69.

70.

¥ g =R vl fEE e

(A) 1919 # ~ (B) 1947 ®
(C) 1948 & - (D) 1918 #
sﬁqﬂ IRt 1 T F 9 gl 2

(4) 1995 (B) 1994

(C) 1998 (D) 1997

fegnfeyr (U9 W& 71 ¥ 80) ¢

71

T fu T owE A S wEH S e (A) R T (R) & w9 # fafgm €1 @
T & Ged # fr=fafea § 4 9 ™ @@ ® 2

T ¢
(A) TH (A) IR (R) ¥& T
(B) aﬁ(A)aﬂuR)aﬁ%aﬁﬂR),(A)ﬁaﬁmqﬁ%

(C) (A) ¥& ¥ &fd (R) o0 ©

(D) (A) Tod € dfeT (R) &1 &

AHHe (A)

favaefaa 3R dua # sEuRome & s TR & fafye fae aid ®)
T (R) :

T FY oary §, FeER 3R ¥R & 3 sed fea ¥l
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72. Assertion (A) :

Cross media ownership in India is a reflection of global trend in the media

industry.
Reasoning (R) :

The Indian Government is unable to withstand the pressure from multinational

companies to legislate against media monopoly.
73. Assertion (A) :

The Indian media houses have lost their mission and vision relevant to a

developing democracy.
Reasoning (R) :

The media managers are of present generation. They probably lack social

responsibility.

74. Assertion (A) :
The concept of development communication has failed to take-off in our country.
Reasoning (R) :

Lack of Professional approach and people’s interest for entertainment are

responsible for the situation.

75. Assertion (A) :
Verbal language and photography are good examples of representation codes.
Reasoning (R) :

Both of them perform referential functions.

TBC : YRS(AP)XCC)JMC-2018 36



T2,

73.

74.

75.

IR (A) :

g # UR Hifew e Wit sdm § Afvesw wwm # wfafE ?)

& (R) : - |

G TR e TETER & faei wA R & fou SgusE s &

F1 GEA FA H omd ¥ : <o
kAT (A)

e e T 3 T freTedia dede @ faw e @ fie o gfe
w1 @ fea gl

T (R) :
mwwwmﬁﬁlmwmmﬁw@w%
3Mehet - (A) |
WWﬁWWWWﬁWwﬁW@%I |

& ®) :

e i R T B R A o R @ g R
4

JwE (A)

dfgs a R BRI ST #ie ® I W
& R) :

3 & (e BRE F g
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76.

77.

78.

9.

Assertion (A) :

Social changes can take place under three main headings : economic, political

and cultural.

Reasoning (R) :

Economic, political and cultural systems are interrelated to one other.
Assertion (A) :

Change in every culture would ultimately effect change in the value system.
Reasoning (R) :

Every culture is more or less integrated system of cultural goods. This

integration creates a more or less integrated value system in that culture.
Assertion (A) :

After i_ndependence, India decided to follow the mixed economy.
Reasoning (R) :

It was based on the Soviet model of development and at the same time, it

was the need of the hour to go for capitalism as well. _
Assertion (A) :

Press Institute of India established in the year 1963. It‘organises seminars,

workshops, conferences for journalism.
Reasoning (R) :

The objective of Press Institute of India is to promote good quality of work

in the field of journalism.

TBC : YRS(APXCC)JMC-2018 38



76.

77,

78.

79.

AT&H (A)

wHfSe ufted @ e widsl & ded & wRa ® o onfew, UeHifas ok
HEh e |

& R) :

Ffefeh, Toifaeh SR FiEgon yomell TH-gE d I8 g ¥

AR (A)

R T R R T p— g g S S

% (R) :

aﬁ@ﬁ!%a@aﬁaﬁwﬂmmmmm%lwm%w
aepfd § srfees W F9 THIFA qoT wOTell S g

3R (A)
ST & 9%, YRa 7 idm srdegawar &1 uem @ &1 vl e
& (R) :

%m%@ﬁmm@awanmﬁama?nmaﬁ%ﬁma%ﬁmaﬁam
9 ®] ot €@ AR

Aheq (A) :

IR T G 1963ﬁwﬁa§maﬂ'ﬂwﬁma‘?m@ﬁm FHTATCst, T
F1 AN HL R

& (R) :

W T8 G H1 ST WA % &9 o=l e % H A gl o
gl
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80.

81.

82.

83.

84.

Assertion (A) :

The print media in India is registering rise in circulation unlike developed

countries. People are preferring Newspapers for News.
Reasoning (R) :

-

Increased literacy, awareness and- expanding market have contributed for

consolidation of print media.

Which one of the following streams is a tributary of the Chenab river ?
(A) Bhadal (B) Tantgari

(C) Gaj (D) Bhaga

In which District of H.P. is the Rahala waterfall ?

(A) Lahaul-Spiti (B) Kullu

(C) Shimla (D) Chamba

How many seats did the Congress Party win in Mandi District during the
2017 H.P. Assembly Elections ?

(A) Three (B) Two
(C) One D) None

According to 2011 census which district of H.P. recorded the highest growth

in population during 2001-2011 (in percentage terms) ?
(A) Kangra (B) Solan

(C) Sirmaur (D) Una
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80.

81.

82.

83.

84,

AHAT (A) :

mﬁﬁzmmmaﬁsﬁ#}ﬁnﬁawﬁqmﬁmm%lmw
% fou ToER-T # TEE W@ E

W% (R) :

qigRal § gfg, SrEwar iR fawr seR 7 fie difew & e & fau 9reH
fe %1

frfafes # ¥ S Joum foTe T F weRsw § 2
(A) A | (B) i
(C) = | (D) wrm
we Sy 5y & foaw foa 8§ 2

(A) we-wf (B) %l
(C) fermam tD)amn

few. & 2017 & faum aw 9@ A Avet fod @ w09 W A feeR @ St
off ? ‘

(A) B) A
(C) T= - D) T ot =&

2011 aﬁm% 3R few. & fow &t § 2001-2011 & @ T= aqu
sued gfg 9 &t T (wfoya H) ?

(A) TS (B) 9

) far - (D) 3
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85. In which month is Sui Fair observed in Chamba Town of H.P. ?
(A) March | (B) April
€ IMayl | (D) June
86. In which District of H.P. is Pin Valley National Park ?
(A) Chamba (B) Shimla
(C) Kullu (D) Lahaul-Spiti

87. Which Buddhiét monastery is also known as the Ajanta of the

Himalayas ?
(A) Guru Ghantal (B) Gemur
(C) Tabo (D) Khardang
88. With which royal court was painter Fattu associated ?
(A) Chamba (B)‘ Arki
(C) Bilaspur . (D) Lambagraon
89. When was H.P. Lokayukta Act passed for the first time ?-
(A) 1971 (B) 1976 |
(C) 1983 (D) 1992

90. Which one of the following villages was the abode of Pahari Gandhi Baba

Kanshi Ram ?
(A) Dada Siba (B) Chintpurni
(C) Dhaliyara (D) Bangana
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85. ey & =@ w § §E fen fhw wER § WA S ¥ ?
A) = - (B)
C) = | D) M
%, T T fn. @ e ol A ¥ 2
(AS e ) o
C) =T (D) wRE-wifd
81. _m%mmmmémﬁaﬁm.w%?
(A) T& I (B)
() = . C 8 D) @R
88. fosr wy fooa fhe @l <em | e o ?
(A) atar. | (B) ITHI
(©) e (D) e
89. %.u.ﬁmgﬁ'ﬁaﬁmmmwwgaﬂ.?
(A) 1971 & | (B) 1976 ¥
(C) 1983 # (D) 1992 #
90. m@ww'm@mmm@anmﬁﬁw
(&) =l B) fa=pef
(C) < @ s
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91.

92.

93.

94.

95.

In which case did the Supreme Court of India declare the pracfice of
triple Talaq among the Muslims as void and unconstitutional (in

August 2017) ?
(A) Nafeesa Begum Case (B) Sameera Begum Case
(C) Shayara Bano Case . (D) Sultana Bano Case

Which of the following constitutes the boundary line between India and

Pakistan ?
(A) Durand Line | (B) McMahon Line

(C) Radcliff Line (D) Wagha-Attari Line

According to 2011 census which state in India recorded the highest density

of population ?
(A) Uttar Pradesh (B) Odisha
(C) Bihar (D) Tamil Nadu

Which High Court in India has Jurisdiction over largest number of

states ?
(A) Bombay __ (B) Kerala
(C) Guwahati (D) Calcutta

Which Indian is popularly addressed as Mahamana ?
(A) T. Prakasam (B) C.R. Das

(C) Annadurai - (D) Madan Mohan Malaviya
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91.

92.

93.

94.

95.

fag &9 9YRG & S=9A9 IO X qEGIHl § dF T @ 9o @l S 3R
FEaufe R R (svma 2017 #) ?

(A) TR ST HE (B) THI ¥ 4

(C) YW & ®H (D) Yoam &Y
ﬁnﬁ@aﬁﬂaﬁmmmaﬂimﬁaﬁ%é\aﬁm%ﬁuﬁm%?
(A) s W@ (B) HFRA Y@

(C) TEfrs T (D) FEN-3RE @

2011ﬁm%@w%ﬁwﬁmmmwﬁwﬁm

T ?
(A) IW WV (B) siifewn
(C) fsr (D) dffeArg

Wﬁm‘mwma@w—mmﬁwuﬁm%?
(A) @l (B)

(C) AR | (D) e

fFrg a1 AR yEem # WErEE %El Wl €2

(A) A gwEH (B) H.3W. T

(C) aFr@'s (D) WA WEd A
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96.

97.

98.

100.

Which country’s airline is called Garuda Airways ?

(A) Indonesia : (B) Bhutan

(C) Nepal (D) Cambodia
Where is the headquarters of Arab League ? -
(A) Riyadh (B) Tunis

(C) Ankara {D) Tripoli

To which century does St. Valentine belong in whose memory Valentine Day

is observed ?

(A) 3rd | . ~ (B) 6th

© 8th | ©) 10th

What is ‘fhe appoximate content of Nitrogen gas in the atﬁwsphe_re 7
(A) 28 percent (B) 38 percent

(C) 58 percent (D) 78 percent

Which strait lies between Andaman Sea and South China Sea ?

(A) Dover Strait (B) Palk Strait

(C) Malacca Strait ’ (D) Sunda Strait

TBC: YRS(AP)CC)JMC-2018 46



96. m.%ﬂﬁmmﬁwwﬂ“@?@ﬁﬁ%?
(A) FUSHIEE (B) &
(C)W - (D) e
97. @ T F gEEd FE T ? ' 4
a) for .(B)Ef&ﬁ‘v"
(C) o/ - (D)ﬁrﬁ%ﬁ
08 < Ak, o A% @ Adie 2 w8, e wd g 2
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(&) 28 wfww (B) 38 Wi
(C) 58 whEm (D) 78 wfww
100. 3i=AF TR SR Ul HW WRR @ W wEE Soenens (§2) ¥ 7
(A) T VL (B) WH Ve

(C) wEFHl W D) o1 |2
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